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12 17
24 9 22 17 21
27 12 3 20 34
30 196
3 4 236 63 6,929
11 13
48 57
18 19 132.59%ha
10m)
50 88 275
5 8 21.1ha 78.3ha
11 15
56 347.7ha
3 5 11
63
25 26
14 14.3 ha
26
29 30
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11 7 28
8 2
11 8 20
29 26 15
54 20 30
10 19 20 21 12
56 23 15 20
18 ha 102.6
35.1 8.0
61 12 26
62 12
62 11 24
63
63
63 11 24
63 10 30
84
14
23 14
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11 10 12 20 41
10
11
27 11
28
12 26
11
12
10 10 20
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46 10 17 13 22
10
55 267m
19 25
56 133.6m
21 29
55 10 22 400m
57 152m
5
58 1,003 21ha 83ha
10
63 19 688.0m
63 305.0m
11 17
125.0m
380.0m
361.0m
10 63.0m
10.0m
35
30 31
362.0m
13 18 490.0m
102.0m
11 17 387.0m
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